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The law is that even during the time it is permitted

OVERVIEW

2Py 92 KR 27 explained that our 7i1wn (which states that y»an of a R after noo is
78372 MoXR and the ynn of a 9"7nRY 101 is RIT2 Mn) follows the view of 7717 "
who maintains that y»n of a noo7 ARY YXW* is X372 Mox (but not ™11 Yw ynn),’
and in fact the 71wn could have stated that the y»nn of 290X (meaning a "132) is also
an but since we were discussing nX17 by a PXWw°, he mentions X317 by a 1.
Furthermore the miwn could have stated that by a >721 it 1s permitted even 127 70
(during noo), however since he mentioned 1127 TMX? by a P& W, he mentions XY
1117 by a 131, There is a dispute between >"w7 and N1901N as to the meaning of 7N
1247 1S A,

- 799983 9N Hrwa wre
>'"w9 explained that when the X713 states that even 117 710 the ynn of a 131 is NN
it means that ™31 5w 1¥n1 is permitted to be eaten on ros.

mooIn disagrees:
= 19W NN 991 99957 1D 1N DRT NDION NYWA DY XN *NY DN TWON INT v

And this is difficult; for it is impossible to eat 121 >w 1311, unless it will belong
to the >X12° when he eats it; for if the 121 gave the "X > the ynn as a gift, it

belongs to the 5% v (and it is no more 21 5w %1 when he eats it) -
- Y5¥5 %71 INPINNL ANV NHNN P XD ININND 2990 999 99931 D) ON)Y

And if he robbed it from the 21, the X7v> is liable for its restitution, and it is
not any less 10X than y%2n for which the Y%7 accepted responsibility, where it

is considered as his and he is 72w on >"21 *"2 if he has this y21 in his possession on 1os.
Therefore he would also be 710X to eat it for it is considered his y»ri. Therefore there cannot be a
rule that a P& W° may eat 731 2w WAn since it is not possible for a PR to eat *131 YW 1AM,

mMooIn has an additional question on *"wA5:

"' derives this through a w"5 of MWW 1KY from 7°X1 which applies only to X" 5w 1311 but not 121 w.
2oy .
3 The w"ra of 7w MW (see footnote # 1) teaches us that just like there is no MoK of &7 22 for *101 5w 1¥1M (one
may have >331 5w 18111 in his MW on nod), the same applies regarding eating, that one may eat 133 7w %17 on oD,
* Others amend this to read X R2W WwoR (instead of X X7 R WwoK). See ‘Thinking it over’.
5 See the X3 on 2,7 that if a X @ was PR 22pM on ™31 5w %7 he is 92w on *"21 7"
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- 9% NDOA NV *NDN 1YY YaPY VAN 39T 1TNRYOY ITINY NPT 19PY T
And furthermore, later (on this 7nY) where the X723 states that 2py® 72 RAR M
(who establishes our mwn like *"7) and X271 (who establishes our mwn like w'"9)
follow their respective opinions where they argue regarding 121 5w yx»r which
was nop7 19y "2y, However according to *"w7°d that »21 5w ynn is 72°282 mn

even 117 N (according to °"2aX7), they (X271 °"ax") should argue on nop itself
whether it is permitted to eat >33 W %1 on 110D (the view of *"ak"), or not (the view of &27);
why are they arguing only concerning noo:7 1°%¥ 12vw >121 Hw wnn?! This proves that everyone
agrees ([even] according to °"7) that >321 5w 1¥117 is 72°982 MOX on oo,

mooin offers his interpretation:
- 7ANINA 13590 9 It TI9 199N MINPT RNT YUN 12 PN 13929 AN

And it is the view of the X''299 that this which the X773 stated, ‘even 127 7102 the
721 5w X1 is amn’, that means that it is JR372 2072, but not 797982 —

Mmoo responds to an anticipated difficulty:
- SNDYT IND DYINN YW SN NNN YAN MNINDT RN

And this which the X3 stated; ‘however you may eat the y»nn of others (*1721)’,
indicating that it is 7 even 11T TN 717°0X3; that statement is not precise —

mooIn offers an alternate solution to the statement of 2K 2w 93X 7NK;
= 97N 9912% 9NN 93 ON

Or you may also say that the X713 meant that 11%7 9n8% you are permitted to eat 1¥2n
121 5w (but not 131 TIN).

mooIn anticipates a difficulty:
- “noan 7Ina waaY nwp 7mar Svwa 1nom

% X217 argues that the 7awn which is 1O97 Y9y 92vw 721 YW AR P cannot go according to "7 who maintains
(according to X27) that it is Mox (for we do not derive 719°387 KXW from ;X717 7WRW); however >"ax1 disagrees and
maintains that >"3 derives 72°2X7 K@ from 7°X77 KW and therefore 107 1°%Y N2yw 121 2w 1A is INM.
7 This would seemingly mean that he derived some benefit from the y2n of a >, perhaps by sitting on it, etc. See
(also) TR R"wA.
8 The X713 meant to say that >321 5w 1817 is 1127 TN IRIT2 N (not 7199IR2).
? The X2 stated 7123 2w1 191 29K 7K 22K 127 727987 MWW AX 191 MWW 72, Previously mooin said (regarding 0°nx »w)
that 923X 7NX is XP17 WY (it means 7817); the question is what is meant by 7123 5w 923 70X (even if it means nX37) as
Mmoo continues to explain the difficulty.
9 If we are discussing wTpn 2w ynn after noo (like the second answer of Moo regarding 721 Yw wan) it is
understood that m2x ¥ is 90 in a case where he was 770 the 1057 VoY "2VWw WP W yan after nod, so there is no
WIPn YW ARI7 MoK and there is also no 79°38 MOR of 1097 HY 1YW yrn since it was WP YW yun (just like there is
no MOX by *131 YW 18AmM).
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However regarding the y»n of wepsn it is difficult to explain that we are

discussing deriving benefit from it during %9 (the first answer mooIN gave by a *31) -
- Y9V NI 291 INTD ON) ININD NN INTO XY ONT

For if he did not redeem the w7pn (it is still wIpn), it is ARIT2 MON (since it is
wpn) regardless of the X317 MoK of y»r, and if he redeemed the y»nr of w7pn, it is

his (it is no more 723 Hw) and it is X172 MoK like the rest of his ynn; so what is meant by 92y
23 5w 91 (713m1) Do AnR?!

mooIn offers a possible solution:

1V YIPN DINR DAN ¥ON IDINR RN XDY 113X JYUN N3N NN DAN 91990 W RNYY
And perhaps we can say that when the X713 stated, 7123 @ 7373 70X 28 (on
nov), it meant that there will be no y»r 999K (since it belongs to w7p2), however
there will still be an m99°X of having X317 from WP,

SUMMARY

>"w1 maintains that (according to ") »121 HW ¥ is 79°282 M even during noo,
while M50 maintains that it is 77°9X%2 9 only after nod however during 1o it is
only 7X3772 2N not 777582,

THINKING IT OVER
1. When a person is invited to eat as a guest, does the food that he eats belong to
him or to the host?"'

2. Previously'” 21v°9x " taught that y»n is 278 w IMwn2 WX, however 21377 [RWY
IMWI2 X7 12°KD (that he is 72 on *"21 °"'2). However, (perhaps) that is only when it
was already ymwn2 from before nod, however in a case where it is " %W 311 and
the Y8 W presumably does not want to be 71 this y»n (in order not to be 121V on
°"21 °"1), he 1s not 7P the yn since y»nn 1s X1 MOKX so it is not MWN2; what is
Moo question on w121

' See Hxmw 127.
290,
13 See nnx now.
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